SEREETEG CREFV R B&E

ArEHE
b v 0 47 5 BE AR KH T 205
. wy HEH A 2-1 T = {3 ifiniE
FRH LR BH T T EE
LR
L H % 11#& 9" 208 %=
Bk g P 110& 9 * 20 p %=
Bk P (2B $%) 110& 9 * 28p &H¥=
BLikis Rk ¥ 110 9 » 30 p %¥7

BikD g e &

1. B ix#cs i+
KETHh 2 v ¥
3. ¥3%

prp |D55 DR R ST AT e T - L G A T
T, = R w RITE & g 709 o

1.2 &2 by &
KEER 2o SR

3. ]‘\J_'%v}‘\?

= .4
¥% ﬂ:”EW%iﬁ FRECENFE P o FRTR

AR NEEE L HF TR "/ﬁﬁi%"i’]ﬁé“ v - BREAE TR S
\‘_"

1. #¢ .
?’%g 3 *;.— 2. W l’Lﬁi: x> ’F\'E‘f’l—'\ e
3 5 d




Bk irid

AAFR

KE 1%

205

BEERE

111+ 9 » 28 p %1 &

rE#B

w5

®EE~

2-1 T = 33T

FHREF ¥

(-
ot

e

=X
R HE

LR P

BGE 43 3-HL2F7 13 &)

BT AP (255 PERR) 514 (3|21 PR R ¥ RS
2 1.7 % g ¥ R Vv
T Lot A B ot
i 2FE A BB RGN F A
= 24 AP F b v e
% WREFBRAY LERY o
3 3.H 4 LANEY g v
RS E EE% 5 v
P SR AL T SRR
% 2.XFF 3 wRE 2 R \ B v A d o T AKE SR
# RO EFEE T F L -
3. XFF G B RLRSE A \Y,
g
::}—
¥ LE2 e ot |V
g
7 B9 EARY SR E R
A iF .82 Abw R ORR \ VIRV IcEVERY 7 ¢
% PP IE WL LR d KR
i EREIET P 3 V PARRERN 2 TR R R EF R
HaEs o
4. 84 5 5264 SRy
v
(e BYH L eiEd5)
LE45YF 4% v
T
g |2 EEIR V0seessnramysias
¥ o e 2 remmn e
ﬁ% 3§_ RN yﬁi&i/#" Vv
5
4. 82 #3087y \




Rkt

BEKFSEAE L

1. REERTY -

2. PRE(RZEIEAHFLn 3 D RipEizag, ‘-"‘1"."1:]‘&53'_:!_ 4 A (5 S ) AR 4

Pt R g B 4 RHPRE(RER)MARGS o
3. KEERY B4HES T RYBFLBIPIEMNS -

4, Y LFRBEL SR FARASLREEF ST IB IR AL
BRI BAER

Wik BFRegkls Oekriagsh ek ssaggi [Jis

BE-
I RkFFRRFPI GG
2. PHFIRE SR REFORE LS
3. RIHESE T ATARF RN -
4. RY R SR IAFET R 318 -
B, BMPMI SFRNFL R IR oL A TFRARY o
6. AEBREZH? S HFEI % ARFRUI A PR ok o
23
FLr o RV EERS &§4¢Wgﬂﬁiﬁﬁﬁéik$ﬁakﬁ%
EFrX FRTBEARE L CRPNIG A §nFd > EFT LT
¥ o

Rt

i 5
B 3

a3

et

4

4_

wr




T
AP, 7
71 AW (T1) HWeWER RADMEN  BETIRENEE

Pt et b

ISR I |
s e

% g; AN il Tl 4 ; = /

-~

Lif, . *.qb,y&.b"

i Et= T

-







h
‘ v
=
~E

KERF




KERF

Prrreniz 3+ F R My iE A TS




1. B T B -
(1) 2)*= :

N

(3) (\/3.5)°= :

2. BRI HHIE -

(3) (19)*= :

3. B TS BE -
WGBY=__ -

4. B FHI S B -
QG6P=__ -

¥

3‘3

¥
5. B FHISHAIME -

(3) (\2.8)= :



AL T 71 & BT A/ B -

(V6 -9

(2) \/8 -~/

(3) V1115

(4) \/16 - V12

(5) \J21 - \J28

(6) 24 - /23

(7) N2~ +/5 43

(8) \/10 - /9 -8

(ON12 14 - /15

3 4
AN\/2"\/5

1 1
(12) 2 3

(wrjg‘y%_
(14) V2 - 12
(15) \J0.4 + 0.7

(16) 18 - 21



1. B 15 HYSEJTHR -

2. B AT BYSE AR -

3. Bt 2L AP UTHR -

4. 55 29 Y ITHR -

5. B 33 HYSE 1R -

6. 55 35 HYSE 1R -

7. B A HYPEGR -

8. B 16 HYFJTIR -

9. B3t 36 HYF-ITHR -

10. B 49 1EHHR o

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

o

55 64 YR

£ 100 A5 -
£ 0.09 AR -
22 0.36 YR -
1 0.64 1P HIR -

= 0.81 AR -

4
Pyt 4 (IT AR -

B S MR -

9
FtHgog IR -

Bt IR -



